EARAROBREBRT —5 XN—ZXBISH—F

202438318 (B) 23EHEE5H

IEERE Al USR—K

\(9&1&1 /J\Elﬁ‘ (eEweEl - | 5 14000

[AE%] 17%:850,000Hm  27&:272,000 M  33%&:153,000 .~ 43 :102,000H . 5 7&:68,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— RS L . 9= — TURE (EB)
1 4| FATLTTO— H 5 Ram 1.(2_7).3 2-2-2-1 | 38.7 2 (4+923) ﬁ_%@ =)
RIXIVIATAwIDAUT— B rIFvITo SR IR
= N LO% : -4-3- - TRE (8
) 3| FATLYDRTY 47 A 1.(217).5 4-4-3-2 | 38.7 1 (55)563 ﬁ_@&-&
RYIRI4 TSR B:L—EVIT7D N TSV Rs
~, < I8 : —7-4- - NBExX (k&
N . ReEPED, # 7 | UTeR S el oo R R
RIRIIATAwI D+ UT7— B:XU—DxH— I URUKIS
S S i) : -1-1- - FHHEBAIE (£8)
4lglo SAYEZRNUAY 4% 9 %% L%l 1-1-1-3 | 39.7 7 :$ A i
R:ZIJU—rve—0O— B:ZAFUVTIN—y— RHRBUS
~ S — — — =0 : -6-5- - LIE# (£5)
5l7|7|v/v=v=3as5y4 5 e 1.(245).9 6-6-5-5 | 39.6 8 (4_738) g
RiTJUA=Y B:FZFHI—A ok {Bth
= Y 6 | HPEA 1:29.0 7-8-6-6 |39.6| — 3 474 | KEFEK (EE)
6155 7TTF5F 56.0 (/2) *3) ST,
RiAIVI/RSAY BT T /AT INRBUS
» FUEH : -9-8- - HHERTF (5
211l | wvu— 7 | 2 1.(239).6 9-9-8-7 |39.6 9 21:325) /M%%ic( )
R:YVRUIURIR #8:TUYFR=) BRI IHUKIES
< 5, ~ JIVIASEZ : -5-9- - BEH—X (£8)
glalg|UryIPyyay B 7 A 1.(32(;.0 5-5-9-9 | 40.5 5 (ﬁg} Aes =)
RiFvyvH/ 2+ B:URVNRIL gilll A
S~ s [TNEEES= : -3-7- - WHEEA (E5)
9 6| TAVVITVIY v B 7 e 1.(38.2 3-3-7-8 | 41.2 4 (4:3 Wi, =)
RS/ Vv IT4 B:I—yvOb—Y INEBUS
@ 11— —‘@BIEfI
13—7+— 9,4,6,3,8,7,5,2,1
20—73+— |9,4,6,3,8,7,2,5,1
BEIESSES 9,4,3,2,7,5,6,1,8
43—F— 4,3,9,2,7,5,1,6,8
0 ILRE
BB 4 240 AR 3-4 150 AN 3-4 210 3EE 2-3-4 2,010
B B 4 120 2-4 700/ F5 EE 3-4 240 3EE 4-3-2 6,560
3 110 2-3 8304 o= 4-3 5804
2 2904

ABIC OV TRUTEREERRODDZE. THRIIZEL.




